Subtraction of 4-digit Numbers (With Borrowing)

A. Choose the Correct Answer:

1. What is 5002 - 2345?
a. 2657
b. 2557
C. 2667
d. 2567

2. Subtract 3489 from 7000
a. 3511
b. 3611
c. 3621
d. 3711

3. What is the result of 8000 — 4678?
a. 3322
b. 3422
c. 3342
d. 3442

4. Find the difference: 6001 — 2456
a. 3545
b. 3555
c. 3445
d. 3455

5. What is 9000 — 43217
a. 4679
b. 4689
c. 4699
d. 4700

B. Fill in the blanks

1. 7321-2645=
2. —3456=2544
3. 8000-4678=__
4. 5005-2789=_
5. 6776—___ =3455
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C. Different Type Questions
1. Subtract using borrowing: 7632 — 4895
2. Match the differences:
a.9001-1234 [17767
b. 6000 - 3456 L1 2544
c. 7888 -2999 [] 4889
3. Circle the correct answer: 6789 — 3897 []1 2892 [] 2992 []12882 [] 2782
4. A school had 4567 books. 2989 were lost or damaged. How many are left?

5. A train travelled 7000 km. Another train travelled 4567 km less. How far did
the second train travel?

D. Mark each sentence with a True (¢/) or False ( X ):

Borrowing is needed when a digit on top is smaller than the digit below |7W

5432 — 2345 = 3087 |
Subtracting 3456 from 7000 requires borrowing |
8000 — 1234 = 6766 |
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6000 — 2789 = 3211 |

E. Miscellaneous Questions
1. Subtract 3897 from 7890 using borrowing
2. A shop had X9000. It spent X5678 on goods. How much money is left?

3. A factory produced 8000 toys. 4789 were sold. Find the number of toys
remaining

4. Write two 4-digit numbers where borrowing is required and subtract

5. Alibrary had 6543 books. After a storm, 3456 were damaged. How many books

remain in good condition?




